EBAZA / Components

No.

ZF / Part name

#E / Pes

#ME / Material

- REMNIE / Color-Finish

kT Hs8— / Top cover

1

ASAHAE UL94HB / UV-resistant ASA UL94HB
EPATEABSHIRE (UL94V-0 E L) / Flame-resistant ABS UL94V-0

RITART L— / White gray
F+3—)LY L— / Charcoal gray

2 RT 41— / Bottom base 1 ASA#tE UL94HB / UV-resistant ASA UL94HB BRI AL+ L— / White gray
BEPRMEABSHIAE (UL94V-0 EFE%Y) / Flame-resistant ABS UL94V-0 | F+42a—)L4 L — / Charcoal gray
3 | IS4 KH/8— / Blind lids 2 ASAAE UL94HB / UV-resistant ASA UL94HB 7RI AT L— / White gray
PATEABSHISE (UL94V-0 %) / Flame-resistant ABS UL94V-0 | F+3—JL4 L — / Charcoal gray
4 | HAR vk / Gasket 1 < 1JarI L / Silicone 75v% / Black
5 |BFER(SLUK M3 x8) 8 AFULR manE
Screw (Binding head M3 - 8) Stainless steel Unfinished

BT =h)LTF—% / Technical Datall

REEZE R / Protection class : IP67

{# ;B EEiF / Operating temperature : ASA —10°C ~ +60°C
ABS -10°C ~ +50°C

#E{TILY / Recommended torque

N . fna/Title
$7/N— / Top—cover fastening : 0.45N*m ~ 0.55N-m BASHANFER T % PETH KA v X © I:I
E AR / PCB mounting : 02N*m ~ 0.3N*m TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
B (BEEXZELD) / Color Type (End of product number 1) & 8/ Approved & X]/Checked #I[X]/Created B F /Product number RIE/Scale
585 / Code £ / Color #ME / Material WP20-20-50
G RITA LT L— / White gray ASA#E UL94HB / UV-resistant ASA UL94HB PR HH % H 1/ 4
c F4a—)LY L— / Charcoal gray | B¥ATEABSHAE (UL94V-0 E %) / Flame-resistant ABS UL94V-0 fERH/Date  2019/09/09




200
152.5

45

20

25

4-R24
1525 A-A(1:25) 136.5 4-@4.3
4-R0.5 1 S
™
- ® g ® o @%\
C
"
o
35 385( 3
)
T - ® o » 2
B
= ©
5 Ih >
C
AN an P ]
® ° @ ¢ jf;fv
B-B(1:25)
Ll
LJ L—! LJ LJ
3.25 :
| | 4 /Title
TAKACHI| #RXettahFEMTE PE7BE KA S R ©|:]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

IP67 NETWORK PLASTIC BOX

& 8/ Approved

iR

1% [Xl/Checked

F

#IX/Created

% H

FIE /Product number

WP20-20-501

RE/Scale
1:2.5

YERZ B /Date 2019/09/09

2 / 4




My T H/8— / Top cover

200

4-R24

4-R0.5

I R R I 1
D i D
|
I
|

\ |
I ¢

S0 L |
D-D(1:25)

168 8-M3AH—kFvhk
C-C(1:25)
8—-M3 Insert nut
1 162
I 6-M2.6 FA EARER 4K R
-l—lﬂ\\ -
© B gggj\\ 6—-M2.6 Boss
1) .%]
’ |
8 o
15
35 [[16.5
5
' ol
l= | 15.3 ,
@] Nie/
=
186
6-2.8
2-¢10
=4 "T —4 o | w©
X ) { - ™
h T 28

162

HRERBIR * |RFELTHLELA
Recommended PCB dimension % NOT SUPPLIED

4% /Title
BASUINTFERTE P67/ KA w52 o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7&Z2/Approved | #RE/Checked BB /Created | Z1F/Product number re
WP20-20-501 125
iR B o s )4
YERL B /Date 2019/09/09




—

" T 41— / Bottom base

25 1

4-R24

@3 ~ ’(“? ~ g?
|
|
o
N7
|
S TIe ] T
~ I
F H F
o
|
|
A O #& C A
A\ 4 A\ N7
I E
2-M4F1{ U —Mryb (R -3 PWPMB-M4-2ER {1 FB)
2-M4 Insert nut for Pole mounting bracket (WPMB-M4-2)
F-F(1:25) @6.5
3.25 AT = W 3.25
Al
0
™

4-MA 5} ERER 11 7] 168
4-M4 Mounting hole 153 6-M2.6 FHEARENR R
6-M2.6 Boss
E-E(1:25) 136.5
e ———
—] ~ L ﬂ!'!@f;\i
] & \
3 22
Lo
z = o®fl 3 o
5 2
=]
n| ®
,n%[;& ,
L ) M/
188
HREAHRBIRK * RFELTULEEA
Recommended PCB dimension 355 17 39.5
* NOT SUPPLIED
- . | 6-2.8
S i R e |
_ T [
| h
4-@12
o) fee) L—~ . l.,,_J ©
0] < ) { ™
2 i T nip ®
6.5 6.5
L. _ . i
2 | a
~ L © | oL ;
153 4-R3
fna/Title
TAKACHI| #HRttahFERI% P6TR KRy R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
78/ Approved %X /Checked #IX/Created FIE /Product number RE/Scale
WP20-20-501 125
iR ESZ0) /| 44
e B /Date 2019/09/09




